JEE-Main-29-01-2025 (Memory Based)
[EVENING SHIFT]
Maths

Question: If the letters of the word “KANPUR?” are arranged in dictionary, then the
440th word is

Options:

(a) PRKAUN

(b) PRKUAN

(c) PRKNAU

(d) PRKUNA

Answer: (a)
AKNPRU
A m——————— = 51 =120
K—eeencnna = 5613120
N—=======- = 51=120
PA —======= =4l=2
P —=meeme— = 41 = 24
PN —======= =41 =24
PRA —==-=---- =>3l=6
PKKANU 251
PRRAUN =1

440

Question: If 7' is divided by 23, then remainder is
Options:

(a) 11

(b) 12

(c) 14

(d) 16

Answer: (¢)

t+3
. @i = (\/E) )
Question: Let

a -+ ﬁ\/i,thena+/5is

Answer: (224)

A = lay;
[ f"‘T]SX?’Ifsum of third row of A? is

f(z) = / t(t* — 3t +20)dt,z < (1,3)
Question: Let 0

then o + (3 is equal
Options:

and range of f(x) is («, 5)



185

(@) ——
(b) 55+
(©) 5=
(d)
Answer: (b) -
f(z) = / t(t* — 3t + 20)dt
0
xt(1,3)
f'(z) = z° — 32* + 20z
f(x) = —4 — 3 + 1022
f'(x) > 0
f(z)is ::ct(l 3)functz'on
so f(1) = F =«
16) = 3
a_I_B 37+333
_ 185
4

Question: The value of the limit

lin%(cos ecx) (\/2(:0523: 1 3cosx — v/ cos?x + sinx - 4) _
r—

1S

Options:
(@0
(b)1

(©) 2V5

(d) 2v5
Answer: (d)



V2cos?z + 3cosxz — vV cos? +sinz + 4>

2cos?z+3 cos —cos®—sinx—4
V2cos2z+5 cos z++/cos2z+sin z+4

[ cos?z+3 cos x—sinz—4 i|
V2cos22+3 cos z++/cos?z+sin z+4

. —2coszsinz—3sinz—cos
= lim [ ]
V5+/5

Question: Let the line Lbe 1 3 3 and foot of perpendicular from
(1,-2,-1)toLis (o, 5, y) then o+ +yis
Options:

(@) — =5
(b) 12 102

()=

(d) -
Answer (d)

A(A+1,3) +4,5) +7)
P(1,-2,-1), DR = (1,3,5)

_._>
AP. (DR) =

Al +3(BN+6) + (5A +2)5=0
)= =28

35
A= (-2 +1,3(—2) +4,5(52)
:*(%?_:3_3%4=_Tg)

_ 23 34 9 . 102
atft+ty=F3% 7T =

102

Question: If the exhaustive value of a for which the equation 2x*+ (a - 5)x + 15 = 3a has
no real root («, ), then |[4(a + )| is equal to

Options:

(a) 56

(b) 52

(c) 54

(d) 18

Answer: (a)



Question: Area enclosed between the curves |y| = 1 - x? and x* + y* = 1 is (7 - @)sq. units,
then 9« is

Options:

(a) 8

(b) 16

(c) 32

(d) 24

Answer: (d)

yl =1—=2*

1
Required Area =4 x | T — /(1 — :cz)da:

0
1
— _,_4[ _rc_3]
T Z=3|,
—_->7T—4[1—%]
8
:>7T*§

a=2
So9a=9x & =24
2
logy =xlog —,z € N U{0}.
Question: If 5 Then sum of all values

of y equals to
Options:

()=
(b) =
(©)~—
()~
Answer: (a)



logy = mlog(%),n e NU{0}

y=(%)"
y—1,2,(2)% ...
Y= 1_1%

= 3

Question: There is an arithmetic progression a,, a,, a3, .... a4 and a; + (as+ a;p + a5 ...
A020) T 23924 = 2233. Find the value of a, + a, + a; + ... a5p54.

Options:
(2) 11034
(b) 11132
() 10432
(d) 20462
Answer: (b)
ai,az, az....a2024
a1 + a2024 = Q2 + A2023 = .eenee. =1
coay+(as +ap +as + ... @2020) + G024
total = 1202
S0+ 2020 = 2233
[ = 2233
203
C.a1 +az + as...... a2024:>%><l
2024 2233
=~ T3 X 903
= 11132

Question: Two points (4, 2) and (0, 2) lie on the circle whose centre lies on 3x + 2y +2 =
0, then length of chord whose mid-point is (1, 2) is
Options:

(a) V3

(b) \/g
©2V3
w2V5

Answer: (¢)

Question: If a, § are the values of m where
x+ty+2z=1



x+2y+4z=m
x + 4y + 8z = m” have infinitely many solutions.

10
o B
n n
Then Zn:l ( T ) is equal to
Answer: (440)

[4 (Sin (4cr: — E)‘ + sin[2m])dm
Question: The value of Jo 2

greatest integer function)
Options:

m—2
inl
+( 1 )sm
—2
(“2 )sinl
-2
ﬂ4 )sinl

@i (”;2)@11

Answer: (a)

(a)

+

(b)

|
N

~
o
N

N S TN P N

is (where [.] denotes the



